FINAL ANSWER KEY

Question 94/2023/0L

Paper Code:

Category 059/2022

Code:

Exam: Telephone Operator (Degree Level Main Examination

2022)
Date of Test 25-06-2023
Department Kerala State Cooperative Coir Marketing Federation Ltd
Language: Kannada

Questionl:-Arrange the following events chronologically:
(1) Sepoy Mutiny

(2) Battle of Plassey

(3) Queen's Proclamation

(4) Formation of INC

Select the correct answer from the codes given below :

8 TN ﬁ?é&ﬁrﬁ%@o RPN AV AL IRATON AR
(1) 2009 Tord

(2) T B3I

(3) Degdody FReRT

(4) INC O’

FYNI Becew® NYor 3003596 W§63§b e;sai%maé

A:-(4), (2), (1), (3)
B:-(2), (1), (3), (4)
C:-(3), (1), (2), (4)
D:-(4), (2), (3), (1)

Correct Answer:- Option-B

Question2:-Match: List | with List Il and select the correct answer with the help of a
code given below:

List | (Author) List Il (Work)
(a) E.M. Sankaran Nambuthiripad (i) A survey of Indian History
(b) Elamkulam Kunjan Pillai (ii) Kerala Charithrathile Iruladanja Edukal
(c) K.M. Panikkar (iii) Keralam Malayalikalude Mathrubhumi
(d) K.N. Ganesh (iv) Keralathinte Innalakal

B00w0ed8 : T3 1 RA3 Ted 2 R0 I AeBUE BeiE® T IHo0LNOE FD0INE GLITTT
3030, 358
2t 1 (Sed3) %832 (3oR)
(a) @.00. 3030F°* BoWO3DHaE® (i) &3¢ esp° BoRALR® QR
(b) 2©0BO0 BoowR® 1Y, (i) B0 WQI3S YCLYE 0% HBOT®



(c) 3.0. ﬁeﬂgo"‘ (iii)  3eOYo BOO0IPYRLBOI SILIPN

(d) 3.o0°. nees® (iv) dBeoOL80e3 'aagosef
A:-(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
B:-(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
C:-(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
)

D:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii
Correct Answer:- Option-C

Question3:-Who was the founder of Kuka Movement?
BOTY WFRIYOD m@ﬁa’do 0359807

A:-Renjith Singh
B0z J0ne

B:-Ram Singh
Oo30® 2ot

C:-Raja Ram Mohan Roy
0259 D30 SRCHN® Ta030¢

D:-Nauninal Singh
VAT E* Jorn®

Correct Answer:- Option-B

Question4:-Which of the following is/are related to Swathi Thirunal Rama Varma?
A golden age in the history of Travancore

First Raja of Travancore to receive the title ‘Maharaja' from the British Crown
The first census of the state was conducted

Formulated a Legislative Council

Select the correct answer using the code given below:

8% FYNIIH)NYYD 0350330 mﬁé S0ONIY® TR IIIOETT 302 0DAT?

(1) 800=008,00F VBB 20830 RSEIE AN

(2) D3 FPo° Q0B 'RHa0%' 202 WCNBFHO BHEE 3002208,008 S350 Tots
(3) oa%:m SO zsa’msoéodogn VB30V

(4) Seigeedxs @st €9§b CRIZINT

FYNT BT WF 30030 emgdwgb €303, 3508

A:-(1) and (2)
(1) 03> (2)

-0

B:-(2) and (3)
(2) 3 (3)

C:-(1) and (3)
(1) 03> (3)



D:-(2) and (4)
(2) R0 (4)
Correct Answer:- Option-C

Question5:-Which of the following is/are not related to Great Revolution in England?
(1) The storming of the Bastille

(2) Bloodless Revolution

(3) Toleration Act

(4) Continental Congress

Select the correct answer using the code given below:

83 IPNSIHNYY 030a)B0 Roriow® BYT SoFe F9081 B0 0PI
(1) 20e3e° DoMeY

(2) T30S F903

(3) 380—-’%3\03?’ T0TS

(4) BookdPot3er® BaqQrja®

FINT BT WP 3D030T emgddgb 3030, 398

A:-(1) and (2) only
(1) S0 (2) 98,

B:-(2) and (3) only
(2) S03> (3) =098

C:-(3) and (4) only
(3) o3 (4) I

D:-(1) and (4) only
(1) S0 (4) I,

Correct Answer:- Option-D
Question6:-Present President of UNICEF
UNICEF z303 eacggdo

A:-Julian Huxley
%R0V BT

B:-Maurice Pate
250035 See3s

C:-Catriona Laing
@zgo&/acm ©209007F

D:-Catherine Russell's
ﬁaac;saca‘ gRe*
Correct Answer:- Option-D

Question7:-The name given to the boundary between mantle and core of the earth
MVFON BB eV mcgzpaﬁw nan AeqE R0V



A:-Mohorovicic Discontinuity
SRBPTRATE ZN3

B:-Bullen Discontinuity
WOSH® INSRRYROIE

C:-Lehmann Discontinuity
eiga‘ 3N

D:-Gutenberg Discontinuity
noesn® wn'e N3

Correct Answer:- Option-D

Question8:-Which type of map portrays a specific spatial distribution or category of
data?
0dves3 Dedady BFAd &)ibr§ Q30T OGP0 eI drﬁrdgb WSROIT?

A:-Physical Map
3T BF

B:-Thematic Map
DR 03005008 BT

C:-Cadastral Map
TYBEIRY® BY

D:-Topographic Map
3vag30d B

Correct Answer:- Option-B

Question9:-North East Trade winds blows between which pressure belts?
éeaagi 29000 BCOIrie 0300s3 2IBE BEINY VRS DerO3T

A:-Sub tropical high pressure belt in the north and equatorial low pressure belt
V30T Y YU emo—-’sgwoodxi QT WIBE D3 BB FDOWIWT TR WIBR D3,

B:-Polar high pressure belt and subpolar low pressure belt
BRee0* & FFOF W BoB Fw° FPewD® dae FB0¢ W,

C:-Subtropical high pressure belt in the south and equatorial low pressure belt
VT GURBO0E VBT WIBE T3 BB FROYT TRR WIBE B3,

D:-Sub tropical high pressure belt and sub polar low pressure belt
PURIO0T VBT WIBE H3 BB YU go&)ecﬁo BBRD WIBB T,

Correct Answer:- Option-A

Question10:-Which of the following statement is/are correct about the Eastern
Coastal Plain of India?

(i) It lies between Eastern Ghats and West Coast of India

(ii) It extends from West-Bengal-Odisha border to Kanyakumari

(iii) The plain is known as Konkan Coast in the North and Malabar Coast in the South
(iv) The plain is drained by Mahanadi, Godavari, Krishna and Cauvery



PI03E FRTE FOoRY 2 0AB W1 B FINT 0300 BeYT/BeIBFried IDAIIINT?

(i) 9B BRI FE3ried B0 P03R B8R FoBLOD FBIS TS

(i) ¥E> B8B0-woMmeY-wRZo NBOWOR FHYRIRPD0IBTTT HFOATS

(i) wodLOF> WLICTY B,00Te FoSY [0 FFLBY SOLIPT* FARY D0y TN
(iv) wodben Fieds) BoHoRd, 11AcwaRDd, T B0 T:5e00300E DI

A:-(i) only
(i) =098

B:-(iii) and (iv)
(iii) 02> (iv)

C:-(ii) and (iv)
(i) =03 (iv)

D:-(iii) only
(iii) oo

Correct Answer:- Option-C

Question11:-The location of Agricultural research centres in Kerala is given. Which
of the following is correctly matched?

BOVBY T 0BTV FCOT MO g@dga QB ING. FFNVI)NFY 0doe3so 8003IN
BHORTO30NT

A:-Central Tuber Crops Research Institute Kerala (CTCRI) - Thiruvananthapuram
o3 ef %&/azoc‘ P=° 0w 'a(‘()&%&faés‘ e3¢ (CTCRI) - 300IB03R)00

B:-Central Plantation Crops Research Institute (CPCRI) - Ernakulam
RoR O FeotIewn® @t BaLs'e Aeds® (CPCRI) - dFaFBOO0

C:-Indian Institute of Spices Research - Kasargode
Q0B30n° ‘a&)h%mes‘ e3p® .3’3356 ORWF - TRCRACREY

D:-Rice Research Centre - Kozhikode
G5° DRLI’F F0k30° - BocdBRew®

Correct Answer:- Option-A
Question12:-Which of the following is a latest version of GIS Software?
BYNB)NYY 0350330 GIS  7o5E,Beo® Qeedd 33 30350NT?

A:-Intergraph
Q0&30° NF°

B:-Arc GIS 10.8
e35%¢ 2305 10.8

C:-Arc View
il sj%

D:-Map Info
OSDEYRAINTEN



Correct Answer:- Option-B

Question13:-New Economic Policy Introduced in India 1991 covers
036 1991 T Bz SPET &)eéodogo 20WOVZOINT

A:-Stabilization reform Measures
ADes0er RPITE FHOND

B:-Structural Reform measures
dwmgﬁ AWPITET FRONLO

C:-Both (1) and (2)
(1) S0 (2)

D:-Environmental policy measures
RORC Qed RN

Correct Answer:- Option-C

Questionl4:-Central Government's non-debt receipts comprise of
(i) Tax revenue

(i) Non tax revenue

(iii) Recovery of loans

(iv) Disinvestment receipts

$e0R, ABFTT me3e3T TeRred a@ﬁefﬁb W PORT.
(i) 30r eswaodd
(ii) 30ri03>e30 esraodd
(iii) meon¥ SRR
(iv) BT 38edried
A:-(i) and (ii)
(i) 03> (ii)
B:-(i) and (iii)
(i) o (iii)
C:-(i), (ii) and (iii)
(i), (i) oo (iii)

D:-All of the above
RIS dQFf

Correct Answer:- Option-D

Question15:-Government fixes Minimum Support Price of 22 Mandated agricultural
crops which consists of
JTIETR) 22 3E0D A Wsnon 6<‘O§ Wowe z3e3063§>3 AND BRI

A:-14 Kharif Crops, 6 Rabi Crops and 2 Commercial Crops
14 253005° 34D, 6 T W&dned =0 2 med%s Wdned

B:-10 Kharif Crops and 12 Rabi Crops
10 23005° 23$ned, 12 TY) 23$ned



C:-12 Kharif Crops, 6 Rabi Crops and 4 Commercial Crops
12 25005¢ W3¥neD, 6 TN Wdned S 4 meﬁg Wgned

D:-9 Kharif Crops, 10 Rabi Crops and 3 Commercial crops
9 23905° W¥ned, 10 T 234ned o 3 a‘aeﬁ%s Wdned

Correct Answer:- Option-A

Questionl16:-P C Mahalanobis model of Indian Five Year Plan
(i) Emphasis on development of Capital goods industries
(ii) Emphasis on development of consumer goods industries

0303 FOWDIAEFT 0dRCHRBOIY 22 FoBOVACRE S030
(i) woBDed FoTMY ugRone wRFHI 0.3
(i) ne®T AOTONY emcgmmf )30t 23>

A:-Both (i) and (ii)
(i) 03> (i) 0@

B:-(i) only
(i) S8

C:-(ii) only
(ii) Soeg

D:-None
03J9BS 9L

Correct Answer:- Option-B

Question17:-Which of the following is/are correct about Pradhan mantri Fazal Bhima
Yojana (PMFBY) 20167
(i) To provide insurance coverage and financial support to the farmers in the event
of crop

failure due to natural calamities, pests and diseases
(ii) To stabilize the income of farmers to ensure their continuance of farming
(iii) To encourage farmers to adopt innovative and modern agricultural practices

SHoN Q8 Fwe* Pesde adeews (PMFBY) 2016 wi§ B8 FYNTI)NFS 0330 D3NS
(i)  WINY 3003FBY 3Z0rt DR0 T =030 FANET ARZo7ieh, Feesned P dweenine
B0 Q0N e3DET ﬁou@dgb WENROR)BO

(ii) 6@3&01) (‘Odo:édéﬁb a)zssstsz,mgw (%3(5 eamodosib Pgﬁﬁa@ﬁm

(iii) BB =B VAT FA aganga q,a’dﬁb BB CTISRIIBO

A:-(i) only
(i) =098

B:-(i) and (ii)
(i) S59g (ii)
:-(i), (ii) and (iii)
(i), (ii) Soag, (iii)

A



D:-(i) and (iii)
(i) S0 (iii)

Correct Answer:- Option-C

Question18:-RBl's targeted liquidity support to the system in 2021-22 included

(i) Special refinancing facilities of Rs. 66,000 crores to all India Financial Institutions

(ii) Term liquidity facility of Rs. 50,000 Crore to ramp up COVID related healthcare
infrastructure and services

(iii) Special Long Term Repo Operations (SLTRO) for small finance banks of Rs.

10,000

(iii) On-Tap liquidity window of Rs. 15,000 crore for contact intensive sectors

(iv) Extension of On Tap Targeted Long Term Repo Operations till 31st December

2021

2021-22 3Q 23=35° 1 RBI @ evgeds g?é’ Wow 0T 2wt
(i) D3ex BoTOBEITIRD —"Oozdmfo Ow. 66,000 Fectd e 23903 BT ,oO,oﬁ*’-?ﬁ
(ii) eo3RAD e‘)%&w Jae)w dfo 50,000 Boct3 30eTE 0w od3 esdJam Nedodaab £z3~e»
RROFITORE m@b ,oem"mfo
(iii) ,oseg DT méoﬁme?ﬁ ABCR VTR0 BHPe Toodvor o wmned (SLTRO) Twe.
10,000 &oct3
(iv)  eso'-t59® @gaes Doree Tw. 15,000 Beced 3oxss deg Swadonyrt
(v) 31 BR0wo® 2021 O3 es° e590° e30rie €3G° o0n® e335° Tpe To0dIE WOHNY HFOTS
A:-(i), (ii) and (iv)
(i), (ii) mgo (iv)
B:-(iii) and (iv)
(i) &0 (iv)
C:-(i) and (v)
(i) 22> (V)

D:-All of the above
RIS dQF

Correct Answer:- Option-D

Question19:-Which one of the following statements is/are correct related with
Finance Commission

(1) First two chairpersons of Finance Commission were former Union Cabinet
Ministers

(2) Kerala State Finance Commission submits its recommendations to Chief Minsiter
(3) Finance Commission's recommendations are mandatory in nature

(4) Finance Commission shall have powers of Civil Court while functioning

T8 FINT 0000R BCYF/BCYTNLD BEITIRD e;voifaeﬁﬁ6 20200020

(1) ®£B3) e303ReNE ST QYOO eszggdo =923 Fazgi’)a?és‘ S0Q8ried eoy Faazf)aiés‘ =093
m&wdooaﬁgdo

(2) 3To¢ ert BEATOAY 303RCTR) Sg émdﬁomfﬁb :w%)znqgﬁ QRO

(3) ®evoRd esodeenney 8ga0zoned ggéabg? 6ca%abmﬁc$’



(4) ®eazoRd esodeensy) FOJE AR HRISTCITIN AD* @pdmt)&bd ea@mdmfs*b BPOWCOZT

A:-(1) and (2)
(1) &30 (2)

B:-(2), (3) and (4)
(2), (3) 203> (4)

C:-(1) and (4)
(1) 23> (4)

D:-(1) and (3)
(1) 22> (3)
Correct Answer:- Option-C

Question20:-At the Union level, Subordinate Legislations are framed and notified in
the Official Publications by
0300V Ftx3Q), RS aasaimf(}) TURRUING S0P RT3 S TeIRNYY IBO0T FRWIINT.

A:-The Law Commission of India
Pa03FY ToweRL esodecn

B:-The Ministry/Department Concerned
2300030/ 9031} 30 0RDIT

C:-The Supreme Court of India
AR o ARV Vol X 3

D:-The Parliament of India
AR ofc ARRTORT: Y
Correct Answer:- Option-B

Question21:-Match List-I (Major Constitution Amendment) with List-Il (Minister who
introduced the Bill) and select the correct answer using the code given below:

Constitution Amendment Minster who introduced the Bill
(1) Amendment 44 (I) Sharad Pawar
(2) Amendment 73 (1) Shanti Bhushan
(3) Amendment 97 (1l1) Ravi Shankar Prasad
(4) Amendment 104 (IV) G.Venkataswamy

QL

283 1 (F0IPIT $GODR) D3 - 2 (D53e0d0T FO0RAT AedH[00) BROVA R0 YN VeROOS
303190 3D03re emgddﬁb €302

83,1 63,2

(R0 $55) (DBe0dT F00BE BF00)
(1) sgo=d 44 () 30w Swe0*

(2) 85o=B 73 (I) 008 Gosek

(3) 8gomR 97 (Ill) BBoso* ZFor®

(4) $5o=B 104 (IV) 2. Sostsmo

A:-(1)-(1V), (2)-(1), (3)-(1), (4)-(11)



B:-(1)-(11), (2)-(11), (3)-(1V), (4)-(1)
C:-(1)-(11), (2)-(1V), (3)-(1), (4)-(11)
D:-(1)-(1), (2)-(1V), (3)-(1), (4)-(1l)
Correct Answer:- Option-C

Question22:-Consider the following statements:

(1) Kendriya Hindi Samiti constituted in 1969 with Prime Minister as Chairperson
(2) Department of Official Language was formed in 1975

(3) Parliamentary Committee on Official language was formed in 1976

(4) Article 348 discusses about the language to be used in Supreme Court and High
Courts

Which of the statement give above is Not a correct one?

38 FINI ée%mfﬁb 20N

(1) 3R &od m)oéodogb 196909 833 3093 eatggoaﬂ AIDRLD0II)

(2) w@egé (ADTSEE) 'aemaiodoﬁb 197539 Ju3xern0lr3dd

(3) ©ReT3 woxkodd 3ozBeoD ﬁg)oéodog,) 19760¢) 0850033

(4) 3488c P03 mQeo Bects’s Fo em%ds mzpime)oi)mfg? R oodd Wi
232320333

Roed QeRTLN HEFINFY 0dv9YHBO FO0ITNY

A:-(1) only
(1) S8,

B:-(2) only
(2) S93

C

C:-(3) only
(3)

g

D:-(4) and (1)

(4) 23> (1)

%

Correct Answer:- Option-A

Question23:-As far as Advocate - General of a state is concerned
(1) Qualified to be appointed as judge of High Court and the person is barred from
appearing

for any private individuals and firms
(2) Appointed by State Governor in accordance with Article-165
(3) Give advice to the state government upon such legal matters and any other
assigned to

him/her by governor.
(4) S/he is entitled to participate in the proceedings of both Houses of State
Legislature and

Committees with voting power
Which of the statement given above is/are correct?

oazgd esg%mcéeés‘ - RO R’ F02 003
(1) éﬁJaeés‘F o méaim@eéoaﬁ aﬁcmﬁmgw 0doa)Be azN §§mfo S0 5o§m‘3ﬁ 9BHES



3 F3odogo TawOrIen A OPRLRNT

(2) ©RBYB-1658 500 ert mgmo@oﬁ Be0T

(3) oazgmodo 307V e387 Qodecesim TR dRadNY Wik 0o 5@?66& 203 ACBOR)HEO
(4) 0% BORTIONE NTREY FBBVNL =0 FZHONE WPTIT 3U00RTIS 3NN BBEIRYNYY
PINS&Re) B3 B TaNTT,

X008} QeBOVRN HCYFNFY 03r03)i30 003N

A:-(1) and (2)
(1) 3 (2)

B:-(2) and (3)
(2) 3> (3)

C:-(3) and (4)
(3) S0 (4)

D:-None of the above
B0edT 03RIEBSR L)

Correct Answer:- Option-B

Question24:-Consider the following statements regarding National Green Tribunal
(NGT) of India
(1) National Green Tribunal has other sitting of places in Kolkatta, Chennai, Pune,
Bhopal and

Chandigarh
(2) They are appointed for a period of five-years and eligible for re-appointment
(3) The NGT comprises, Chairperson, Judicial Members and Expert Members
(4) Justice Swatanter Kumar was first chairperson of NGT
Which of the statement given above is/are correct?

%033 Oodeodd B00 mERo0RY (NGT) 300> 8 3¢NT Beddne'sy S0redd

(1) Dedeody B2TY PYOBO0BY m?@, e, D, Wecmeer B0 worieri® 930 YO
BP0DT

(2) =00 060 IRENY BB Be0B7LR0BTT @031 B0T0-BeR0TB, 9% ToNTT

(3) NGT, @zz;,siﬁdo, mzzs»’do 30> B0ed3 :;’dgdg) W R0BCO3T

(4) méoi):waér: §3030€ BRI 9300 NGT 030 Sem® eacggoaﬁgdo

B0eeS QeRCLS BeFFNYY 0350330 BOAIIPNT

A:-(1) and (2)
(1) B3 (2)

B:-(2), (3) and (4)
(2), (3) =03 (4)

C:-(3) and (4)
(3) S0 (4)

D:-(3) only
(3) 3538

C



Correct Answer:- Option-D

Question25:-The President of India can't exercise veto power with respect to
(a) Money bill

(b) Financial bill

(c) Constitutional Amendment Bill

(d) Private Member Bill

203 oa@ﬁéne?ﬁ 20003 Deelne @@@dd@ WS00ID QIR m?‘bg
(a) 0D DRI

(b)
(C) RP0DPNT 3GoRB FoRNPT
(d) a9z m@ ORVAIA]

Correct Answer:- Option-B

Question26:-According to the Constitution of India, what is the criteria for
determining the total number of Minsiters including the Prime Minister in the
council members of ministers

03 Z0DPIVT FTO, T PR B0Q3 3eDF 03 (M3 R0Q3ne 3033293\@3 QB OT XD 0B

03093507
A:-Not exceeding fifteen percent of the total number of both houses of the

Parliament
2028T V30l IBI/NY u%db 303%01) IR saagwgos ézsue“)

B:-Not exceeding twelve percent of the total member of Lok Sabha
SReTRL3030 Wk Soa%cxb 3e500 3516(30 QOCTUWITTO

C:-Not exceeding fifteen percent of total number of members kof the Houses
of the people
BT e355° D RO B W AT 3033?91) BCTE BAVRTO3 B
3 ) g3 AN

D:-Not exceeding twelve percent of both the Houses of the Indian Parliament
0 8e03 H0RSW VIO ABINY 3&1{5{50 ) 3535533 QOCCUWITTO

Correct Answer:- Option-C

Question27:-The theme of SUJALAM 2.0 campaign is
%0 2.0 ©9D03500T DR0VDFINT

A:-Grey water : making the invisible visible



WART QT : @Q)gdﬁio 10€23030303 IIBOIYBO

B:-Ground water : managing the invisible visible
£903WEO : @cﬁdg rimz&ddﬁb AR € &RIT)EO

C:-Ground water : making the invisible visible
£903%E O : @q)gwgp RPCIDI03 JIEOJEO

D:-Grey water : managing the invisible visible
Je Sot30° : o8 RecitIT ABFLRIFIBY

Correct Answer:- Option-C

Question28:-Which among the following statement is/are true?
(i) All executive actions of the Governor of a State shall be expressed to be taken in
the name
of the Governor
(ii) There shall be Council of Ministers with the Chief Minister at the head to aid and
advise the
Governor in the exercise of his functions except in so far as he is by or under the
Constitution required to exercise his functions or any of them in his discretion
(iii) The Governor appoints Chief Minister and other Ministers
(iv) A person to be eligible for appointment as Governor should be citizen of India
has
complete age of 30 years

8% FYNT BeYFNFYD 03000 AeseIoNS?
(i) oazg;d oazg,me)d DY F0ETO @abmfgb oa%smod »ROSY é’ﬁdom%bﬁoé ??F’o@ﬁﬁ(’ﬁ)
(ii) oazgmedo 3%3 andomefgb Q&R0 eaﬁg&dowﬁo 9D ROIPOT &80
BROBOTBY 930 a)odom@’go VI HRTY FH03 FIBEV FVB) FODB ATV m%)angodo
a"cz%gdg? R0Q3 N SLoBY 03 YoIeB.
(iii) CogsEmReI0) =R B3P BT F>eINIR BeWRTIT
(iv) nSSeo® esn a‘s’emﬁmge» 9B TINOLR §§ 033 FadoeNodesy B 30 JRENY
ROTYOEE SOV

A:-(i), (ii), (iv)

B:-(i), (ii), (iii)

C:-(ii), (iii), (iv)

D:-All of these are correct
Q3Q) D3NS

Correct Answer:- Option-B

Question29:-By the NITI Aayog's Multidimensional Poverty Index, the headcount
ratio for Kerala was
NITI e3030eAR 20BS30390E WEID z’uazgoﬁaod, 6@6@;‘% BEE TOO0LF® RODI

A:-0.71%
B:-0.51%
C:-0.21%



D:-0.15%
Correct Answer:- Option-A

Question30:-Which among the following programs and their purpose is/are
matching?

(i) Sulekha - Plan Monitoring for decentralized planning at local level

(ii) Sanchaya - The Revenue and Licence System

(iii) Sugama - Cost Estimation tool for public works

(iv) Sachitra - Map suite (GIS) and asset register for local governments

8% YN FPRCENY0 NYY 0B BB W)Y GLBESD) BROVFOITNRIZS

(i) =oSsed - ée?codo d)éédsdg? aﬁco@cgé o3 ezRsMmIN 03RS BIoe3dont
(ii) =00 - Bw0d FOF BTZOBN §5§

(iii) =onRD - FIIEWAT FaodeENYMIN ézgcs 90T JTIGF®

(iv) 388 - I (GIS) S ge?eob FTEONYN 82 Becored

A:-(i), (ii), (iv)
B:-(i)
C:-(i), (iii), (ii)
D:-All are matching
DR BROWIEIE0ITNIES
Correct Answer:- Option-D

Question31:-Golden Boot Prize Winner of World Cup Football 2022
&)gﬁw—s @)ésawef 2022 T ey’ wets® $33 Dedeso)

A:-Kylian Mbappe
3,D03O®° D0,

B:-Lionel Messi
dodeesert 5323\,

C:-Enzo Fernadez
DO Poor BE

D:-Emiliano Martinez
D03V RC eIV

Correct Answer:- Option-A
Question32:-The objective of the Abhayakiranam program is
©92303>30 €0 To0FTIT euEed

A:-Maternity benefit scheme with an aim to compensating partial wage loss,
improve health seeking behaviour, improve nutritional status and to promote
exclusive breast feeding
N3 Se3S F\S;’J\dgb 20BNROT RoD0deonRTE 30N Fodecws 0deesd, esdfaegsgb

POV BBIYE ﬁac?%ﬁ)oéd 235%01)@ POReD S DBeR §§m<‘\$5§> &3> CBReD

B:-Financial assistance to windows for self employment and better living for



their families
godoo emdfaémaaﬁﬂ S0 T BOELOW NN VS0 a%eﬁaia%ﬁ AFINLT BTN BT )

C:-To provide a safe and better living environment to destitute and Homeless
windows
AME DI B0Z0 FOB0DYB PSRV 20TFZ 0B LR LWeSD 58365@ (XATAEISV)

D:-Mangalya Scheme for Widow Remarriage
AP0 BB 0BT d)aoﬁ%) o3

Correct Answer:- Option-C

Question33:-POCSO Act come into force on
POCSO 300203 23201 woago

A:-14th November, 2011
14Se SS50200%, 2011

B:-14th November, 2013
14S8e SS00¢, 2013

C:-14th November, 2014
143ec SSo0wos, 2014

D:-14th November, 2012
14Se S50200°%, 2012

Correct Answer:- Option-D

Question34:-With regard to zinc

(a) Zinc is a constituent of Carbonic anhydrase

(b) Zinc is a constituent of Carboxy peptidase

(c) Zinc is a constituent of Cytochrome oxidase

(d) Zinc is a constituent of Alcohol dehydrogenase
Choose the correct answer from the options given below:

2301 F0WORPNT 03

(a) BDwos® TR Be @&"ﬁcg 20T Fe3TNG

(b) B0z Toeer3 3&&‘3@ OB Pe3TINTS

(c) =3DFY) ;ﬁdé&foe@ew es%c%eg 2030 Pe3TINT

(d) 233>) eaeifa&emef &%@mczﬁﬁcﬁ © OB 9035NTS

A:-(b) and (d) only
(b) 03> (d) <098

B:-(a) and (d) only
(a) 03> (d) S0,

C:-(a), (b) and (d) only
(@), (b) &3> (d)=9g,

D:-(a), (b) and (c) only
(@), (b) &3> (c) S8,



Correct Answer:- Option-C

Question35:-Identify the molecule:
eaewasgo o032

OF

O

A:-Cannabinoid

B:-Coca alkaloid
BRCTF e%)oao:b;

C:-Morphine
SIDE ™

D:-Benzodiazepines
ﬁozi’aéobzi%geb

Correct Answer:- Option-A

Question36:-Which of the following match is incorrect?

88 BYNE 0300 BROWIEFEOIN I:NTI?

A:-Rhino virus - Corona Virus
CQ,RKM a;’,d;o—s - 33RCH :;i,d;o—e

B:-Human immuno virus - Polio virus

%.ra:pas 'a%aom S0~ - Fpedode Fo=°

C:-Adeno virus - TMV
BN a;d;o—“ -TMV

D:-Influenza virus - Measles virus

AP O - B@D O

Correct Answer:- Option-C

Question37:-Who is/are the winner of 2021 Nobel Prize in Physiology or Medicine for
the Discoveries of receptors for temperature and touch?
FITINT P> 3BT MTFLD 8PN 20210 30e0aE gme FPdeod douier S

IC30Y 035900

A:-David Julius and Ardem Patapoutian
BedE® 20 ) BBERIE BedHOe3030n°

B:-Benjamin List and David W.C. Mac. Millan
20T T3 0> BeAT® B A, BIF* O

C:-Syukuro Manabe and Klans
§J§dea S0 03> T’



D:-David card and Joshua D. Angrist
BeAB® BB 0B BB B. B8NS,

Correct Answer:- Option-A

Question38:-Two masses m and 4m project vertically upwards from ground at the
same time with a speed of 10 m/s, then it is returned to the point of projection,
which of the following statement is true?

S0E> ZF0e8ried M S0 4 M 1L 20te Ao 10 m/s Sericg) Sobor oo Soevd

BIRZB. B0 BB DoBOAN &030ONTN, 8 FINT BeYINYY AdTFHO Vs?
A:-Both masses returned to the point of projection at the same time and with
same speed 10

m/s.
OB T, goaémfo 2053¢ BR0030EQ =0 wde Senad® 10 doe./z5oRn FPegn® Dosodn

R0IBR)
B:-The mass m returned with a speed of 10 m/s and 4 m with a speed of 40

m/s at different time
é:)z;’)g AR00TY 40 Qe/AToRONFY 10 M/s Fo3d 4 oe Sernsd m ggoaé S00L30

C:-The first mass m returned to the point of projection with a speed of 10m/s in
2 seconds, and the mass 4 m with a speed of 2.5 m/s in 2 seconds
SRTO g§m§ m 2 3303on¢Y 10 m/s Sentdeodrt FRse’ Ho000es 1t S0TYB oD ggmé

4 m, 2 3oron¥Y 2.5 m/s Sericdoodnt FReFR® Dorodt S00YH

D:-Both masses returned to the point of projection taking equal time but with
speed 10 m/s and 40 m/s
OB T goaémfo FVODTY 3300635553 3r‘\’dori/a3’od FR VT VoBod1t J00YE) 6T Sert 10

m/s 02> 40 m/s FR2GS® DB VIR

Correct Answer:- Option-A

Question39:-A spring balance is tied to ceiling of a lift reads 10 N when it is
stationery. If the lift is accelerating upwards with an acceleration of 10 m/sz . The
reading shown in the spring balance is (take value of g = 10 m/s2)

ZOn® w8 x> O T Aedon® i SEdeer3 ko F90%0d»Ncoment 10 N g 2mo3a. 10 /%
SertapeSode0drt O, Boegudman Senato BBFIFTS. 0o Jon' wEhv® B DT

WB0E (g = 10 m/s2)9)

A:-O N

B:-10 N

C:-20 N

D:-5 N

Correct Answer:- Option-C

Question40:-The optic fiber cables, one of the main method of energy loss is
through dispersion loss. Which statement about dispersion in correct?
BT ﬁdwo‘ B0 ©F R0, 330k Rigid dn%) APIVIOTT FO €9 6§d SUROT FIO T zoriodnw



HCYE 3D03INTI?

A:-Dispersion occurs due to the dependence of wavelength of light on the
refractive index of the medium
mgwxs S TIVT 203 0083 WYET ST0Ne030R 9300 OTIN BT € F0LIROZT

B:-Dispersion occurs due to the scattering of light with the medium
m%ﬁod}aoaﬁ 3B 23B00F0Ie0DN FAT e FOLIDROZT

C:-Dispersion occurs only for white light with in a transparent medium
DIORBET mgmg QY W3V S8 FRO 9 R0PIRIZT

D:-There will not be dispersion loss when we use monochromatic light source
VOR) DTIET T3S MQ§§J WYRODIN FROED ﬁga‘am@&g

Correct Answer:- Option-A

Question41:-The Nobel Prize for Physics in 2022 was awarded to Alain Aspect, John
F. Clauser, Anton Zeilinger, for their contribution in the experiments on quantum
mechanics. For their experiment they made use of

2022 39 235370 dedef gzsg.,od)go esezas eaggs, BIN® DFF. TRO°, e30830° &%d)oﬁos,
zs%oédw dong\’)g‘ S0deenne® eF0 3RBONNN QB 0. 33’@;3 ) o&/acrmp 95300 %xﬁgb
WFABHOBTD

A:-Entangled electron positron pairs
A3BoEBR0E SRR’ DAEPD* WeeBND

B:-Entangled light photons
?oi:m%afaocg WeHBR Spctzon ned

C:-Entangled electrons with opposite spins
DB A oD ?aé?ﬂg PS@P® red

D:-Entangled positron pairs
235083006 HETT® WRCBNLD

Correct Answer:- Option-B

Question42:-Which of the following statements are correct?
(i) Solder and brass contain Tin

(ii) Brass is an alloy of Copper and zinc

(iii) Bronze is an alloy of Copper and Tin

T8 FYNT 0300 BePFNLD 3O0IINS

(i) 23=ort BB dzegodon swdsﬁb BR0B0OIT.
(i) &za¥adon @@w &Jgeifaewwaﬂd

(iii)  BowL TP B INCT NS PCBZINT

A:-Both (i) and (ii)
(i) S (ii) OB

B:-Both (ii) and (iii)
(i) =02 (iii) SoBS



C:-Only (i)

(i) S03
D:-Only (i)
(iii) S8

Correct Answer:- Option-B

Question43:-Which law provides an explanation of how hot air balloon works?
02 MY WD BTt F20JE AR HRIZTW DORIVBT :Dddﬁodogp 03003 TIRATY B NROIT

A:-Charle's Law
me)fg RO VOIS

B:-Boyle's Law
W3R030¢ TBRTBO

C:-Henry's Law
CAVERIVORY

D:-Avogadro's Law
3PMZEA A0IRD

Correct Answer:- Option-A
Question44:-Which is the first element to be named after an Asian Country?
eo@ oa@cs ai‘sdgu YROB RO €903 035030

A:-Indium
Q0B03S0¢

B:-Nihonium
QB0

C:-Gallium
mzsc‘)obo

D:-Germanium
ZSCEQ0I0

Correct Answer:- Option-B
Question45:-Which among the following is included in "Dirty Dozen"?
8 FINSIHNTD oim@csgp "Be3F BEo™ Y FedePNd?

A:-Chlorofluoro Carbons
B LTRCHRTOC Tt £ m° NYD

B:-DDT
DDT

C:-Methane
Aoegent

D:-Carbon Disulphide
TRIEO° c“j}ze;cs“



Correct Answer:- Option-B

Question46:-The Indian Council for Cultural Relations (ICCR) functions under which

Union Ministry?

ROBOLR® TPVL® HoO® THT S Bedn® (ICCR) 035033 FeoR, 3e3moe0dor ©BodY

FO03OE VR GRIZTS?

A:-Ministry of Culture
30@3 20030

B:-Ministry of Tourism
gm:lfaecgm AUDo003

C:-Ministry of External Affairs
QBezaon §5md NY 3WD00030

D:-Ministry of Home Affairs
N gamw VSO0

Correct Answer:- Option-C
Question47:-Kambala is a distinct sport of which state?
TOWY 0300I m%sw 20630 &)§§ eradroNt?

A:-Gujarat
nO0S®

B:-Karnataka
Toof 3T

C:-Maharashtra
wmm@’,

D:-Tamil Nadu
SPGB

Correct Answer:- Option-B

Question48:-In which country was the remains of the newly discovered human

species 'Nesher Ramla Homo' found?

BRRTIN BZ0ITIE ST 250300 VB0 T BACREHC © WSBeRNeD 0dvos (538 Des?

A:-France
R,
B:-China

zgm

C:-Russia

o=,

D:-Israel
f;@eef

Correct Answer:- Option-D

Question49:-Nelliyode Vasudevan Namboothiri, who passed away in August 2021,



was associated with which dance form?
37158, 202139 AFB0E BY03ReE HRTCRD® B0ordR3D 0SB 03rew 33 SizelavolialaplvATsln

MOagdo

A:-Kathakali
6(;3?%?

B:-Kathak
SR

C:-Bharatnatyam
z,jdsm%so

D:-Mohiniattam
Me&&mgo
Correct Answer:- Option-A

Question50:-In which state is the Trirashmi Buddhist cave complex located
§08 w395 1oz Kodegress) 03003 oagwg?d

A:-Maharashtra
wmoa@,’

B:-Tamil Nadu
SAFOVIBEO

C:-Uttar Pradesh
SV oestale)

D:-Madhya Pradesh
A SlaTlaly:)
25U
Correct Answer:- Option-A

Question51:-A boat travels a certain distance upstream at 10km/hr and the same

distance downstream at 20 km/hr. Find the time the boat will take to travel 40 km

upstream and downstream

BRCEI0300 2,000 K)tbr;-’e? BP0 Q‘)w“&(’w 110 3.20¢/ro &0 e sy F¥rt 20 3.oe/ro.

Geeiod o8 3eer S0P TR Zeer* 40 8.oe. Fodnedzen IrBoBegdR Kbadoagd
TOBOHLRBOWDD

A:-6.5 h

B:-6 h

C:-7h

D:-5.5 h

Correct Answer:- Option-B

Question52:-The difference between selling prices obtained after a single discount
of 30% and two successive discounts of 20% and 10% on the marked price Rs.
20,000 of a product is



30% df’%}o 0T3e D0dI90308 Fo3> 20% 03> 10% T 0B 9803 D0die0drdne 8080 S6dE
R0t WA BRI ?3@55\) RYCL3ZE 23¢3 Cwe. 20,00003 em§§

A:-Rs. 4,000
Ow. 4,000

B:-Rs. 300
S». 300

C:-Rs. 400
Ow. 400

D:-Rs. 440
Ow. 440

Correct Answer:- Option-C

Question53:-If X means +, Y means —, Z means / and P means X, then (4P3) Z6Y2
X 2033 +, Y 208338 —, Z H053 / 030 P 2003 X, 3030 (4P3) Z6Y2

A:-0

B:-2

C:-1

D:--1

Correct Answer:- Option-A

Question54:-Raju has a certain average mark for 8 subject. In the ninth subject, he
got 90 marks thereby increasing his average by 9 marks. His new average is
0oz 093300 8 DR AVESE 0230 00F3F0 BR0DTT. 2owdRe JR0BY, 50> 90

eaoﬁm@o DEETD €3 J0POT TR 9 @oﬁrﬁ@égb éz?gﬁdo. 09530 BUIR FOIRO
A:-80
B:-19
C:-9
D:-18
Correct Answer:- Option-D

Question55:-If the 20th term of an A.P. exceeds its 9th term by 22, the common
difference is

A.P. 03> 20 S 9390300 33 93¢ @é@odogb 22 Dor QoedRIT, mmg ?3325‘350636

A:-1
B:-2
C:-3
D:-9
Correct Answer:- Option-B

Question56:-A clock is set right at 1 PM. The clock loses 16 minutes in 24 hours.
What time will the lock show when the true time is 7 PM on the 4th day



ﬁaojoadwr\b doc% 1 Roe3rt 003N BPoBRING. NBO3NTI) 24 noe3nyd 16 &)mmvab
6%06@%363 466 ATE 0B AZBRIE 32003 7 PM esioosson n&B030oC 0doex ,odaododab
imc@.w§d7

A:-6 : 08 PM
B:-6 : 56 PM
C:-7 : 56 PM
D:-7 : 08 PM
Correct Answer:- Option-A

Question57:-If it is possible to form a word with the first, 4th, 7th and the 11th
letters of the word 'SUPERFLUOUS' write the first letter of the work
'SUPERFLUOUS' =33 1, 4, 7 203> 118¢ esgdm'ifaoaﬁ 3cﬁd§b CRIZOD mcga‘awd I

ST eagdwﬁb 230D

A:-S

B:-L

C:-0

D:-E

Correct Answer:- Option-B
Question58:-The next term of the following letter series will be
EH, JK, ON, ?

B8 BYNT 97T F0I03 SO00DV ST,

EH, JK, ON, ?
A:-UQ
B:-TQ
C:-TR
D:-UR
Correct Answer:- Option-B

Question59:-A and B start from a fixed point, A moves towards east and after
walking 7 km, turns to the right and covers 9 km, B moves towards west and walks
8 km and then turns to his right and walks 11 km. Now how far are A and B from
each other?

A 202 B 202 2000 30 DoBIAE FRBoRmN, A FEBFE, BARIB R 7 8.20¢ SR
S033, 203, 300N 9 8.20¢. LHORYE. B BBE, wARIS 0P 8 §.0¢. Frd 03T 3P WO,
300N 11 8.20¢. BB03T. Bt A 03> B TOFS % BLOBGS?

A:-15
B:-20
C:-25



D:-18

Correct Answer:- Option-C
Question60:-Find the missing number
0,6,20,42,72,7
TOF0300 Soaiz)odogb BIBEB.
0, 6,20,42,72,7

A:-106

B:-112

C:-110

D:-108

Correct Answer:- Option-C
Question61:-The boy never did his homework,

A:-did he?

B:-didn't he?

C:-does he?

D:-don't he?

Correct Answer:- Option-A
Question62:-The more she scrubbed, the

A:-shiny

B:-shining

C:-shine

D:-shinier

Correct Answer:- Option-D

it looked.

Question63:-We must take the child home. Change the sentence into Passive Voice

A:-The child must be taking home

B:-The child must be taken home

C:-The child must taken home

D:-The child must take home

Correct Answer:- Option-B
Question64:-My colleague put forward

A:-some

B:-a

C:- many

D:-an

Correct Answer:- Option-B

unigue idea.

Question65:-Would you mind if | the music now?




A:-play

B:-plays

C:-played

D:-playing

Correct Answer:- Option-C

Question66:-I could hear the seemingly buoyant steps at the door. The synonym of
the word - buoyant

A:-muffled

B:-cheerful

C:-noisy

D:-unhappy

Correct Answer:- Option-B

Question67:-A ream of paper
A nest of mice
A of stars

A:-herd
B:-fleet
C:-bunch
D:-galaxy
Correct Answer:- Option-D
Question68:-The film star his new luxury car.
A:-floated
B:-flaunted
C:-floored
D:-flounted
Correct Answer:- Option-B
Question69:-Ray while his mother was talking to her friends.
A:-cut in
B:-went after
C:-looked forward
D:-put out
Correct Answer:- Option-A

Question70:-They hold their alma mater in high regard and often visit the place.
Alma mater is their

A:-Church
B:-Hometown
C:-School



D:-Office
Correct Answer:- Option-C
Question71:-3$NIIHNYS 3003506 S 03I0F)30?

A:-emmc,maoja

B:-emﬁcp%ob

C:-emscgob

D:-emmtgodo

Correct Answer:- Option-A
Question72:-3¢N3IJ)n¥Y 3003500 mg 03093)30?

A:-Z30)R F00TQ Bo98g BeeNeSad QTN HoBRE)

B:-235008 006 30988 SeeNSned Qoman Holdsd

C:-B5008 S003Q Bo93g BsecNSHed QowaN ToBEL

D:-83508 0065 30988 SsecNeSadn QomaN HoB3d

Correct Answer:- Option-D
Question73:-'Saying is easier than done' - ¥G0 6§émabmc$

A:-2eDIZHB0 6§ RIBORYEO AL
B:-3ee0F)B0 20023 SI0BIR)EY 6§
C:-3BeLOF)BY, SINBORNEO OB 03
D:-3eg0)B30 F03) SI0EI)E0 ﬁ§

Correct Answer:- Option-B

Question74:-9%, 33, o"%@ds B, SI9003, Fod - AYNYY B’ 55%30&)3?053 OB
BRBOS IR 0300I)R)?

A:-99, 003D, BB
B:-333, evd®), 9%
C:-20k, I, S9003
D:-a¢, 238, o
Correct Answer:- Option-D
Question75:-'za803> 8),5eE83Y SOTLH e5t3FE0Y' - OB 13 96 SBBYoOS 33 ggodo
A:-33eadm

B:-2023do¢



C:-agoe
D:-23309¢

Correct Answer:- Option-C
Question76:-'m@5c5' IVT ABRCHIPE DT

A:-zonsd
B:-uos
C:-0950x30
(&)
D:-nxHs

Correct Answer:- Option-A

Question77:-53ed SFneDd, eorf, 300N - Betdpos dedadogde FR0maN QY WTI FBIVRND
030oR))?

C:-gog, ©08, 3035
D -
D:-303%, @038, gog

s S &

Correct Answer:- Option-C
Question78:-'S3c3 R0 a§bw LIBE ACBOS ab&ﬁ%go

A:-30D) 3eed
B:-3e91} 0530230
£ £
C:-ﬁgaa) B0
D:-iej (ATelAra®!

Correct Answer:- Option-B
Question79:-'3YT IR0 WP0ITRD' - B8 MBS I993) ACBIRN WTE SCRO?

A:-3o¢, AR Q=01 wBIITY rigen ngébg
B:-30% 5320306 Y'Y 3o¢, s /00030 Serton SooNkesesd

C:-23e3TB 0droe3)tse FoadF MY DI e3SB0ewsS, FBS, APITS, To¢0d I
QOOTS0Y Q3T

D:-@m@% APOR3, 3RO NN VS TFBNKD

Correct Answer:- Option-C
Question80:-'ggb asady 301800Q TR’ - Bt HTEQ B 11V 296 JBH)



A:-zoadeadd 9B
B:-Soa:a?smzsﬁ
C:-noge 2038
D:-303000 5023T

Correct Answer:- Option-A

Question81:-The technique used to combine multiple channels for transmission
over a communication link is

A:-Signalling
B:-Multiplexing
C:-Transmission
D:-Switching

Correct Answer:- Option-B

Question82:-Which are the two different types of ISDN data rate access?

A:-BRI and PRI

B:-STD and ISD

C:-ADSL and VDSL
D:-FTTH and IPTV

Correct Answer:- Option-A

Question83:-The band width of a ISDN - B channel is

A:-64 kbps
B:-128 kbps
C:-16 kbps
D:-8 kbps

Correct Answer:- Option-A

Question84:-The maximum speed of an ISDN BRI channel is

A:-2 mbps
B:-12 kbps
C:-128 kbps
D:-8 mbps

Correct Answer:- Option-C

Question85:-In optical fibre the information travels in the form of

A:-Sound
B:-Light
C:-Electricity
D:-Solar waves



Correct Answer:- Option-B

Question86:-Which of the following is Government of India owned FSU providing
telecom services in India (except in Delhi and Mumbai)?

A:-MTNL
B:-VSNL
C:-TRAI

D:-BSNL

Correct Answer:- Option-D

Question87:-Any switching system used by an organisation to provide both internal

switching function and access to public network is called
A:-PBX
B:-ESS
C:-ISDN
D:-Telex
Correct Answer:- Option-A

Question88:-The features of a PABX which block the incoming calls to a specific
location is called

A:-DOD
B:-Call waiting
C:-Call drop
D:-DND
Correct Answer:- Option-D
Question89:-The Voip service that connect PBX to internet is called
A:-PSTN
B:-POTS
C:-SIP trunk
D:-ISDN

Correct Answer:- Option-C

Question90:-Which of the following PBX delivers PBX functionally as service through

cloud?
A:-EPAX
B:-Hosted PBX
C:-PABX
D:-All the above

Correct Answer:- Option-B

Question91:-Which of the following PBX system uses both PSTN and SIP to carry out

communication to the outside world?



A:-EPBX
B:-Voip PBX
C:-PABX
D:-Hybrid PBX

Correct Answer:- Option-D

Question92:-In installing an IP-PBX, which of the following part of IP-PBX is
connected to a broad band modem or router?

A:-LAN
B:-WAN
C:-FXS Port
D:-FXO Port

Correct Answer:- Option-B

Question93:-The Generally used factory default LAN IP address for IP PBX
configuration is

A:-192.168.1.1
B:-8.8.8.8
C:-192.168.0.2
D:-8.8.4.4

Correct Answer:- Option-A

Question94:-Which of the following telecommunication medium is having the lowest

A:-Co axial cable

B:-Jelly filled copper cable
C:-Optical fibre cable
D:-Cat 4 cable

Correct Answer:- Option-C

Question95:-Which of the following Telecom service provides voice, data and IP TV
services in a single channel?

A:-FTTH
B:-Cable TV
C:-HD TV
D:-ISDN

Correct Answer:- Option-A

Question96:-The feature that enable callers to directly dial into a phone extension
without the assistance of the operator is known as

A:-DOD
B:-Call waiting



C:-Call parking
D:-DID
Correct Answer:- Option-D

Question97:-The feature that enable a telecom operator to forward or extend a call
to a station even if the station is engaged in a call and if the call, is not answered
with in a predefined time interval the call will be routed back to the operator is
called

A:-Call holding

B:-Voice Mail

C:-Call Clamp on
D:-Conference calling
Correct Answer:- Option-C

Question98:-The ability to receive calls at any number of designated phones,
whether ringing all once or in a predefined sequence is know as

A:-Follow me calling
B:-Conference calling
C:-Group calling

D:-Trunk call

Correct Answer:- Option-A

Question99:-In connecting PBX to FTTH Telephone line which port of the ONT is
connected to PABX

A:-FXS
B:-LAN1
C:-FXO
D:-PON
Correct Answer:- Option-A
Question100:-What is the name of the customer end device used in FTTH services?
A:-ADSL Modem
B:-VDSL Modem
C:-Set of Box
D:-ONT

Correct Answer:- Option-D



